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Note :— Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.
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Attempt any five questions.
All questions carry equal marks.
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Explain the rﬁarginal rate. of transformation using production
possibility frontier. What are the basic. central problerﬁs that
facing all economic system ? 5,10
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Derive tfle market demand curve through individual demand
curves. What are the factors that shift demand curve ? 5,10
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(@)  Explain the Law of Diﬁinishing Marginal Utility with

the help of suitable diagrams.

(b)  Explain, why is water, which is essential to life, so cheap

while diamonds, ‘which are not essential to life, so.

expensive ? ‘ 7 A 69
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What are the assumptions of the indifference curve analysis ?

Diagrammatically, show the consumer’s equilibrium with the

help of an indiﬁ'erenée curve, 15
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(@  What is the difference between Normal goods and Giffen
goods.

{(b) Decompose the price effect into substitution effect -
and the income effect of a prlce reduction for a normal
goods. 5,10
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(a) Explain'through diagrams the Law of Variable
Proportions. ‘

(6) Why is the short run ‘average cost curve
U-shaped ? : 87
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(a) | Show the difference betweeﬁ shﬁt down point and break-
even point through suitable diagm.ms.

() What are the sources of returns to scale ? 78
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Write short notes (:n (any fwo) :

(@) Economies of Scale ‘

(b) Relation_ between AC and MC

(¢) Properties of Indifference Curves

(d) Price elasticity, Cross elasticity and Income elasticity of
demand. ; s T
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